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(Bayes estimation method)

p(x) = [, a(:O)P(O %y, %y, X, )dO
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P(Xy, Xp5- .-, X, | O) =1_i[0|(xi;«9)

) = P(Xy, X,,---, X, | €) P(6)
P(Xy, Xy se ., X))
P(Xys Xy, X, [ 6) P(O)

p(gl X11X2 ----- X

n

[P0 % oo X, 10 p(0)

- [ [,a(x:0)p(6)
j@ H?zlq(xi , 9')p(9')d 0’
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p(x) = | a(x;0)

Hinzlq(xi;ﬁ)p(g)

j®H?=1q(Xi;9')p(9’)d o'

déo

94



95



96

f(0) j@ f(6)d6

6, =arg max f (0)
US(C)

o)
T

=0

0:90

log f (0)

0
—loq f (@ =0
~7100 1 (0)
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(Taylor expansion)
f(0)=1(6,)+(0-6,)1"(6,)+1(0-6,)*1"(6,)+:
7

t(0)
0
f(0)=1(0,)+(0-6,) h+1(0-6,)" H(O-86,)+
0 52
hy=—1(0) H, = f(o _ _
G e 0009 ( )6,:90 (Hessian matrix)




log f (0) o,
log f () ~log f(8,) +0+3(60—-6,) H(O-6,)
N— Y g
log f (O)
Hi ;= 5930 log f (0) y

f(0) ~ F(0) = £(6,)exp(:(0-6,) H(0-6,))
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jD p(x)dx =1

p(x) =

[ expl-4(6-6,) (-H)(O-6,))d0 = \/

j@ f(0)dé ~ j@ ?(Q)dﬁ = f(HO)\/

1 L
TR exp(—g(x—u) 5 (x—mj

(zﬂ)dimﬁ
[—H |
(Laplace approximation)
(Zﬂ)dime
[—H |
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log f (0)
f ()

(Gaussian approximation)
f(0)
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f(6)=p(6:1) + p(6:2)

1 0’
P(0i0) = (27z02)1/2 eXpL_ 202j

Z :fw f(6)d6



